




Denton Fire Department Driver’s Exam Appeals 2024 
Department Response 

 

Source: Occupational Safety, Health, and Wellness, (4th Ed.), IFSTA 
 

Question 2 (1 appeal) 
 
How firefighters feel about safety and health at the local level within their organization is 
known as: 

a. fire service culture. 
b. retroactive behavior. 
c. safety climate. 
d. risk aversion. 

 

Answer – C (page 57) 
 
Department Response: SUSTAIN/ACCEPT 
 
Reasoning: Answer is verbatim from text and the best answer. The section defines organization 
culture and safety climate. While safety climate one behavior characteristic of fire service 
culture, there several other characteristics in the text. This question is specifically asking about 
safety and health at the local level. 
 
The department response is to sustain the key. 
 

  





Source: Occupational Safety, Health, and Wellness, (4th Ed.), IFSTA 
 
Question 11 (1 appeal) 
 
Of the information below, which of the following IS NOT a Symptom of Counterproductive 
Culture? 

a. Policies make the job more difficult 
b. Safety is for wimps 
c. Self sacrifice is a job requirement 
d. You get paid to take risks 

 

Answer – A (page 65) 
 
Department Response: SUSTAIN/ACCEPT 
 
Reasoning: Answer is verbatim from text—answers B, C, and D are all listed at symptoms of 
counterproductive culture and A is not listed.  
 
The department response is to sustain the key. 
 
 

  





Source: Building Construction for the Fire Service (6th Ed.) Brannigan 

 
Question 48 (1 appeal) 
 
Veneer walls, panel walls, and partition walls are examples of 

a. non-load bearing walls. 
b. bearing walls. 
c. finish bearing walls. 
d. decorative or division walls. 

 
Answer – A (page 38) 

 
Department Response: SUSTAIN/ACCEPT 
 
Reasoning: Answer is verbatim from text and in bold print. The appellant references page 208, 
which does mention partition walls being load bearing or non-load bearing. Veneer walls and 
panel walls are not load bearing; they are always non-load bearing. Therefore, A is the best 
answer to this question. 
 
The department response is to sustain the key. 
 
 

  









Source: Building Construction for the Fire Service (6th Ed.) Brannigan 
 

Question 52 (3 appeals) 
 
Which of the following IS NOT a characteristic of Friable Construction? 

a. Components break away readily 
b. Uses cement-asbestos board 
c. Resists explosion 
d. Relieves pressure 

 
Answer – C (page 293) 
 

Department Response: SUSTAIN/ACCEPT all answers 
 
Reasoning: The text states that in friable construction, “the loss is much less than would occur 
in a building that was not designed to resist the blast,” indicating that friable construction 
resists the blast of an explosion.   
 
The department response is all answers should be graded correct. 
 
 
 
 
 

 
  





Source: Fire Officer’s Handbook of Tactics (5th Ed.) Norman 
 
Question 62 (1 appeal) 
 
"Feedback-assisted rescue" is 

a. a method of locating trapped or injured firefighters using the feedback feature of their 
portable radio. 

b. a role-playing technique in which members learn various life-saving methods. 
c. a decision-making process used in rescuing victims under intense emotional situations. 
d. a method of life saving that depends on information provided by the victim. 

 
Department Response: SUSTAIN/ACCEPT 
 
Reasoning: Answer A is the best and only correct answer to this question. While using feedback 
to assist in a rescue is more of a technique rather than a feature of portable radios, this does 
not make A an incorrect answer.  
 
The department response is to sustain the key. 
 
 

  







Source: Fire Officer’s Handbook of Tactics (5th Ed.) Norman 
 
Question 71 (2 appeals) 
 
Making a trench cut on a roof should not be started until 

a. the fire is extinguished. 
b. the main ventilation hole has been completed. 
c. it is determined the roof is an arched roof. 
d. the roof is examined for high and low points. 
 
Answer – B (page 258) 

 
Department Response: SUSTAIN/ACCEPT 
 
Reasoning: Answer B is a point of emphasis by the author; the exception mentioned has 
nothing to do with Answer D. D can be linked to the final consideration for choosing the right 
location for the trench and the text ties it to specific circumstances. Also, the first consideration 
for choosing the trench cut location gives a recommended distance from the “main ventilation 
hole”; this further validates B being the correct answer. 
 
The department response is to sustain the key. 
 
 
 

  





Source: Fire Officer’s Handbook of Tactics (5th Ed.) Norman 
 
Question 72 (1 appeal) 
 
A truss allows large areas to be spanned with pieces of materials that are much smaller than, 
and may be spaced farther apart than, a standard beam. This makes it attractive to architects 
but creates danger to firefighters. The danger of truss exists only under fire conditions. 
Quicker failure is generally caused by 

a. the lack of mass compared with a standard beam. 
b. extremely flammable finishes on lightweight trusses as when compared to standard 

type beams heavier mass which weight alone causes failure when comparing failure 
time of standard beams. 

c. fire attacking the beam members; there is no "time" difference between lightweight and 
standard beams. 

d. none of the above 
 

Answer – A (page 335) 
 
Department Response: SUSTAIN/ACCEPT 
 
Reasoning Use of the word “generally” in the question does not imply it is the singular 
causation factor—it merely means “usually.” The answer A is verbatim from the text. 

 
The department response is to sustain the key. 
 
 

  







Source: Fire Protection, Detection, and Suppression Systems (5th Ed.) (2016) 
IFSTA 

 
Question 78 (2 appeals) 
 
Alarm initiating devices are the nerve ending of the system. It is through them that the alarm 
signal is originated. Which of the following IS NOT one of the basic types of initiating devices? 

a. manual pull station 
b. automatic 
c. heat detector 
d. flame detector 

 
Answer – B (pages 29-30) 

 
Department Response: SUSTAIN/ ACCEPT all answers 
 
Reasoning: While answer choices A, C, and D are listed as initiating devices in the text, in the 
same paragraph the text also states, “Initiating devices are the manual and automatic devices 
that are activated…” So, while automatic is not necessarily a “type” of device, the text does 
indicate initiating devices can be automatic. 

 
The department response is all answers should be graded correct. 
 
 
 

  







Source: EMS Vehicle Operator Safety (1st Ed) NAEMT 
 
Question 98 (2 appeals) 
 
On multilane roads, it is generally accepted practice to ______________. 

a. position as close to center as possible 
b. angle emergency vehicles away from the scene 
c. block the oncoming traffic 
d. turn off all emergency lighting systems 

 
Answer – B (page 84) 

 
Department Response: SUSTAIN/ ACCEPT multiple answers: A & B are correct. 
 
Reasoning: While the question is a direct quote from the book, the context needed to decide 
between Answers A & B was not given. Positioning on multilane roads are referenced on page 
84 and 73 and both answer choices A and B are listed as correct options, depending on the 
circumstances (which are not provided in the question). Page 73 contains answer A while 
discussing position while traveling to the emergency scene; page 84 is discussing position on 
the emergency scene. 
 
The department response is to accept the appeal; multiple answers (A & B) are correct. 




